Adding whole tens (missing number)

Grade 2 - Addition Worksheet

Q: Find the missing addend and fill it in the box.

0 (50] +60=10  n [ ]+70=150

) 60+ ]=130 ) 90+ ] =10
070+ J=150  j [ ]+80=130
d)©+90=170 k) [j+30=90
9 90+ ]=140 1 [ ]+40=10
n( J+90=150  m80+( =90
o J+50=120  n 90+ =150
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Adding whole tens (missing number)

Grade 2 - Addition Worksheet (Answer key)

Q: Find the missing addend and fill it in the box.

a)[50] +60=10 ) (80 ]+70=150

b) 60+(70]=130 i) 90+[20] =110
) 70+(80]=150 ) [50]+80=130
d)+90=17O k) +30=9O
¢ 90+(50)=140 1) [70]+40=10
N (60)+90=150  m)80+ (10 |=90
0)(70])+50=120  n) 90+ (60 ] =150
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